SH6-TEDHR AL (FEE) DL B R x4 f64E11 B 1B HE)
XSEOFETIE, WVHPEIZBRARXOS B EEETRAEERZLTLET,

HET# 4 BHTEOHFRAL | SFCEOFTRAK 1R (A) 1R (%)
SLVf=FE™ 12,830 12,640 190 1.5
nmomm 5,864 5,566 298 5.4
JRE™ 1,072 1,060 12 1.1
LE™ 2,152 2,138 14 0.7
B 2,538 2,534 4 0.2
B 653 618 35 5.7
FHT 1,443 1,367 76 5.6
e 1,406 1,296 110 8.5
SR 686 718 -32 -4.5
ke 808 862 -54 -6.3
FEETH 1,522 1,603 -81 -5.1
=N 672 679 -7 -1.0
LA™ 521 618 -97 -15.7
FR 582 571 11 1.9
MEA: 3,546 3,469 77 2.2
FiriR ™ 3,250 3,370 -120 -3.6
] 718 783 —65 -8.3
R NI 1,024 910 114 125
Bl 1,314 1,357 -43 -3.2
AR 1,383 1,489 -106 -7.1
EtRm 1,044 1,065 -21 -2.0
wRE™ 1,176 1,233 -57 -4.6
A=l 786 782 4 05
Bemh 565 571 -6 -1.1
S LA 1,272 1,227 45 3.7
=T 409 460 -51 -11.1
E &2 IL#T 318 361 -43 -11.9
4 T 97 96 1 1.0
7 I BT 241 222 19 8.6
=L LT 183 155 28 18.1
/N1 BT 205 235 -30 -12.8
)1 ST 180 192 -12 -6.3
= RET 153 163 -10 6.1
IS 1LIET 109 99 10 10.1
EEDHHET 73 83 -10 -12.0




SH6-TEDHR AL (FEE) DL B R x4 f64E11 B 1B HE)
XSEOFETIE, WVHPEIZBRARXOS B EEETRAEERZLTLET,

HET# 4 BHTEOHFRAL | SFCEOFTRAK 1R (A) 1R (%)
R 20 18 2 11.1
REA™ 1,789 1,845 -56 -3.0
AEMH 699 670 29 43
R®ABT™ 1,404 1,389 15 1.1
X EHT 107 106 1 0.9
41| BT 125 131 -6 -4.6
L EBHET 323 323 0 0.0
2 EHET 281 257 24 9.3
B 499 535 -36 -6.7
18 R HT 56 72 -16 -22.2
Eadill 69 85 -16 -18.8
R mET 66 58 8 13.8
/N EPET 88 92 -4 -4.3
TH™ 744 715 29 4.1
hnZEm 938 1,020 -82 -8.0
==kl 2,031 2,020 11 0.5
FET 503 520 -17 -3.3
AT 3,136 3,319 -183 -5.5
AEM 1,276 1,294 -18 -1.4
J\ETH 821 824 -3 -0.4
= 1,210 1,146 64 5.6
SEHEM 568 535 33 6.2
EFH 383 455 -72 -15.8
G 744 763 -19 -2.5
=15 433 454 -21 -4.6
= {CHT 309 279 30 10.8
¥ EHT 415 414 1 0.2
R ET 287 323 -36 -11.1
it 70,119 70,254 -135 -0.2




